
12/15/2010 FTS9 Float Connection Inst.idw

FTS9 Float Connection 
Bolt Bag
Part #: 1006579 
Connects one float to an FTS9 Frame.

Parts List

DESCRIPTIONPART NUMBERQTYITEM
Plate 3.0 100291341
Bolt 3/8 x 2.5100242742

Bolt Carriage 3/8 x 1.0100195643

Nut 3/8 Nyloc100180584
Fender Washer 3/8 x 2.0100043145

3

1

4

4

2

Float

Side Rail

Assembly:
Attach two Plates 3.0 to each Side Rail with one Bolt Carriage 3/8 x 1.0 and one Nut 3/8 Nyloc at 
each place - as shown.  
 
Note: The attachment slots on the floats are 17.5" on-center. Be sure the Plates 3.0 are the same 
distance in from the end of the dock frame on each Side Rail and that they are spaced 17.5" 
on-center.
 
Attach the Float to each of the four Plates 3.0 with one Bolt 3/8 x 2.5, one Fender Washer and one 
Nut 3/8 Nyloc - as shown.

4 x 16 Frame = Four Floats (2 x 4)
4 x 8 Frame = Two Floats  (2 x 4)
4 x 4 Frame = One Float (2 x 4)
6 x 8 Frame = One Float (4 x 6)
2 x 4 Frame = none
 

17.5"

5


